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Note . It is compulsory to (DE) parts from Q.No.2 and 5-5 parts each from Q.No.3 and Q.No.4 and
attempt any (03] questions fmm Partll and any two parts from Part Ill {Practical Part] Writg' Eame

(uestions Number and its part no. as given in the question paper.
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;Dcfine the term Mechanics and Electromagnatism, ij ey \)j prifn G ke () 24y |
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[Wnte bwo advantages of Physics iff our daily lifc: s uuuf_.;f ;fuu.w/n.vd;h (ii f
| Define ..Tr@sl_;ﬂ';}ryﬁ,fﬂutiggn and Linear Motion, u“'{fd /’ur JfﬁJ M Jr' /P (i) E
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i Define Speed and Uniform Speed, A M/‘JJ kg &y () :
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:- Define Velocity and Uniform Velocity. Qf..lj/"i_,f ( sty 4 yls (v)
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;'Define Acceleration and write its equation. gl J/JJ &/ | (i) ﬂ
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I;Differemiate between Force and Inertia, -;‘{},{,_ '.r}* A s (Vi)
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;Definu the Newton's Second Law of Motion, - ;r:.i_J/“H(,(f,Jfl?c.. /SJ-;I:C)I}J‘[-L;;.& (vili)
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(Define. - Rigid Body q (i) 340y
|
lDel"me Centre of Mass. mﬂ@@-w /"J ST (i)
Differcntiate between Torque and C %“@ T%-U/EW ut( A S (i
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%Dufinc Centripetal Force and Circular Motion, - Ji.ij/‘bf u)’f,y AN Lﬁ@
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Write two uses of Artificial Saq[xte. - J;ffaﬂl.*:’fui..‘ﬁ B (iv)
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;'why does the value of " g " vary from place to place? ‘-@dxu:fﬁa;uﬁﬁmf g (v)

%erm 1 brief note on Einstein Mass Enery Equation, iuf‘JLJ}“:{;QJ:P&JJJLJJL:@FT (Vi)

EWr[tu importance of Wind Energy. .u'_‘ﬁ J:JJ Ak (vii)
iDLme Energy and write names of its different types. ..J):'/f‘t.ﬁu;"’ ﬁ({u%lu_‘)/..@fb# G0 (i)

tHcm Chemical Energy is obtained? : ?ri'_':}ﬁd'” bdﬁl&jiﬁ () 4;,Urr
‘What is meant by Plasma? | ?-':-Jjj"u,C- ik (il

:‘v‘vhn is meant by Atmospheric Pressure? ‘l.i*'_ﬂ/if Lﬁ{d}lﬂ (i)
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 Write two characteristics of the Liquid used in Themometer. -u..‘ﬂ apy’aJJdLLstﬁJF’iuf}ﬂ/" (iv)

 How Upper and Lower points are fixed on Thermometer? *‘u‘uaéf J’M Wy 1./ (v)
|

iDefinE Specific Heat Capacity, S *WMW? (vi]
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| Define the Coefficient of Linear Thermal Expansion, ' J/...-Jﬁu uﬁ“ﬁj
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: What is meant by Stop Watch? Describe about the digital stop watch.
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| A tin starls from rest with an acceleration of 0+5ms™ ", Find its speed in Kmh ™ 0
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; when it has moved through 100 m,
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Prove the relation between Force and Momentum with the help of Mathematical Equation, :
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A force of 100N is applied perpendicular on a spanner at a distance of 10em from a nut.

- Find the torque produced by the force,
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| Determine the mass of Earth using Newton's Law of Gravitation.
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A aar weighing 12Kilo Newton has speed of 20ms”. Find its Kinetic Energy
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igLdersity of iron is 8200 Kgm ‘

Define Stress and Tensile Strain. Alsowrite their formulas.

3 < 8200 Kgm J" A
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Calculate the volume of an iron sphere of m% ]
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Explain the effects of Green Hottse Effer:t in-Global Warmmg ‘
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Convert 50°C on Celsius Scale mlg ’Eahrﬁnhei‘i Tﬂmperature Sale. !
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Find thearea of Solid Cylinder by measuring Diameter with the help of Vernier Calliper. i[
Least Count = 0.0lem =  Zfus |
Zero Error = 0 = vy I
Zero Correction = 0 = U:g:gﬁ !
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5t. No.| Main Scale Reading "R" | Concide Line * X" | X x L+C = N|Corrected Diameter Y = M + X
(m cm i
1 | 6400 2 |
2 | Bed b ;
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A meter rod is balanced at 50 em. Weights are suspended as shown in the fig, Find ’
unknown weight " W1 " by using principle of Moment, 1
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fNute Four possible cholces A, B,C,C lo each question are given. Which choice Is comect  fil that circle in front of that question

: number, Use marker or pento fill the circles, Cutting or filling two or more circles will result in zero mark in that question.
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:Ihe number of base units in SI are ey JIbURLy 5-1-51/'.U
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:Changu in Position 15 called | LGMJFL}:L))J

Distance 6 (D) Displacement uu—-m-l-hwd (C )Vt‘.‘lacl‘y J U ( )5pELd ,:‘.A; (A)
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:A train is moving at a speed of 36 I{Jmh.1 Its speed expressed in ms  will be

Bﬂms-l (D) 251111»‘.'1 (C) 2ﬁm5'1 (B)  10ms

{Nuwmn‘s first law of Motion 1s valid

Mnmenmm fv y ¥t Force u’u‘.:;-' (B) Force J.u’ ()

g he formula of V[mmnlu ; : .:.Uf.rub’fy Y
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%FhL number of forces that can be added by Head to Tail rule are
%Thn Symbol of Sigma is ; 5 ﬁh-’i“JHE' )
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Er he value of "g " at a height one Earths' Radius above the surface of the earth is |
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?Thf, energy stored in coal 1§ y 1.1} .'- Lj;ﬁ,y,ﬁﬂ,}f ()
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iWhich Surface 15 Bad Emitier .;.pﬁ(@i}rvﬂ’tfu'uf (12)

Silver E""Fm )(:’df Surface 55 (C) Black Surface f.:l.: (B) White Surface 75.‘1}.: (3 |



